Aalborg Universitet AALBORG

UNIVERSITY

Material reuse in buildings
Implications of a circular business model for sustainable value creation
Nussholz, Julia; Rasmussen, Freja Nygaard; Whalen, Katherine; Plepys, Andrius

Published in:
Journal of Cleaner Production

DOl (link to publication from Publisher):
10.1016/j.jclepro.2019.118546

Creative Commons License
CC BY-NC-ND 4.0

Publication date:
2020

Document Version
Accepted author manuscript, peer reviewed version

Link to publication from Aalborg University

Citation for published version (APA):

Nussholz, J., Rasmussen, F. N., Whalen, K., & Plepys, A. (2020). Material reuse in buildings: Implications of a
circular business model for sustainable value creation. Journal of Cleaner Production, 245(1 February), 1-18.
Article 118546. https://doi.org/10.1016/j.jclepro.2019.118546

General rights
Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners
and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
- You may freely distribute the URL identifying the publication in the public portal -

Take down policy
If you believe that this document breaches copyright please contact us at vbn@aub.aau.dk providing details, and we will remove access to
the work immediately and investigate your claim.

Downloaded from vbn.aau.dk on: December 04, 2025


https://doi.org/10.1016/j.jclepro.2019.118546
https://vbn.aau.dk/en/publications/ced92e9e-97c1-42d8-9bf2-5406e335331c
https://doi.org/10.1016/j.jclepro.2019.118546

Material reuse in buildings: Implications of a circular business model for
sustainable value creation

Authors: Julia L.K. NuBholz**, Freja Nygaard Rasmussen®, Katherine Whalen?® , Andrius
Plepys®

* Corresponding author

a International Institute for Industrial Environmental Economics (IIIEE), Lund University,
Tegnérsplatsen 4, 223 50 Lund, Sweden

b Danish Building Research Institute, Aalborg University, A.C. Meyers Vange 15, 2450
Copenhagen, Denmark

Cite as: NuBholz, J. L. K., Rasmussen, F. N., Whalen, K., & Plepys, A. (2020). Material
reuse in buildings: Implications of a circular business model for sustainable value
creation. Journal of Cleaner Production, 245.
https://doi.org/10.1016/j.jclepro.2019.118546

Submission to the Journal of Cleaner Production; Virtual Special Issue: Urban Mining



Abstract

Buildings are responsible for a third of global greenhouse gas emissions. A large proportion of
their life cycle impacts derives from emissions embedded in materials. Material reuse has the
potential to reduce these embedded impacts, since reused materials often have smaller
environmental footprints than primary materials. Institutional settings and the structure of the
building sector pose multiple barriers to businesses developing and commercialising products
based on reused materials. Although material reuse is claimed to create multidimensional values
for several stakeholders, the implications on value creation are still insufficiently understood and
considered in decision-making. This study presents a business model developed by a pioneering
Scandinavian company offering three building products based on reused materials — windows,
wood cladding, and concrete. Using a multi-methods approach, the study investigates and
discusses implications of the business model in creating value for the firm, value chain partners,
customers, and the environment. Findings indicate the business model has significant potential to
ensure that reuse is price-competitive with linear production practices, to offer value for
customers and partners in the value chain network, and to provide significant reductions in
environmental impacts. If the business model were to be upscaled, implications for value
creation at industry and macro-economic level should be further investigated.



1. Introduction

Buildings are responsible for a third of global greenhouse gas emissions (UNEP 2009), with a
large proportion of their life cycle impacts embedded in building materials (Cabeza et al. 2014).
A solution to reducing the embedded impacts from primary production is the use of secondary
materials (e.g. by-products and waste materials) for producing building materials, referred to in
this paper as material reuse (Hoglmeier et al. 2013; NuBholz et al. 2019; Malmgqvist et al. 2018;
Cabeza et al. 2013; Moncaster et al. 2019).

Material reuse has been promoted in the field of urban mining for many years. The urban mine
with its multitude of anthropogenic stocks is viewed as a promising source of secondary material
supply (Baccini and Brunner 2012; Cossu and Williams 2015), with large material flows
available from construction and demolition (Simon and Holm 2018; Koutamanis et al. 2018). In
recent years, in the transition towards a circular economy, material reuse in the building sector
has attracted increasing attention (EllenMacArthurFoundation 2017; ING 2017; BAMB 2016;
Adams et al. 2017). According to several studies, the building sector has great potential for
implementing circular economy strategies and generating both environmental and economic
gains (EllenMacArthurFoundation 2017; ING 2017; Koutamanis et al. 2018). Other potential
benefits include new jobs (EllenMacArthurFoundation 2017; ING 2017; Trinomics et al. 2018)
and superior customer value (Schenkel et al. 2015; Moreno et al. 2016).

For economic viability, material reuse needs to be accompanied by appropriate business models
capable of commercialising price-competitive products that meet regulatory standards and
deliver strong sustainability benefits. The business model lens is valuable for studying questions
relating to the associated innovation processes, such as how companies create value while
adhering to circular economy principles through new products and technologies, revised value
propositions, and value chain networks (NuBholz et al. 2019; ING 2017; Adams et al. 2017).
Other issues of interest in business model analysis include what value the business model creates
for the firm and its customers (Wirtz et al. 2016; Massa and Tucci 2014) and for other
stakeholders, such as the environment or society (Massa and Tucci 2013; Bocken et al. 2014;
Liideke-Freund 2010; Evans et al. 2017).

Although new business models for material reuse in the building sector have recently emerged,
their diffusion is slow (Adams et al. 2017; Hart et al. 2019). Hart et al. (2019) find that limited
understanding of the impacts of material reuse is one of the main barriers to companies engaging
in developing circular economy solutions in the building sector. Developing products with
reused materials that are price-competitive with primary resources remains a challenge (Adams
et al. 2017; Hart et al. 2019), as innovations for material reuse often require technology
development and upfront investments (Hart et al. 2019; Hopkinson et al. 2018). Meanwhile, the
product’s market success and sustainability impacts are often uncertain (Hansen et al. 2009;
NuBholz et al. 2019). The business and environmental case for material reuse is still largely
underexplored (Hart et al. 2019; BAMB 2016), and it lacks rigorous case studies that could
validate value creation of reuse strategies (Hart et al. 2019).



In this paper, we aim to advance understanding of how a business model for material reuse in
building products affects value creation. We use a single case study of a business model
employed by a pioneering Scandinavian company, which commercialises windows, wood
cladding, and concrete made from reused materials. The study explores how their material reuse
business model affects value creation in terms of:

(1) financial structure and viability of the case company,

(2) employment creation and value for partners in the value chain network,
(3) customer value,

(4) environmental impact reductions.

Building on sustainability evaluation practices, the four indicators were developed to examine
value creation beyond financial metrics and explore the viability of the business model for
multiple stakeholders (i.e. customers, value chain partners, the environment).

The paper proceeds with a review of the relevant background literature (section 2), a description
of the methodology (section 3), and the results of the case evaluation (section 4). Section 5
presents the discussion, and the conclusion is presented in section 6.

2. Literature background

2.1 Circular business model innovation in the building sector

The potential of material reuse to reduce embedded emissions associated with buildings has gained
recognition among policy makers (Danish EPA 2015a, 2015b), companies (3XN 2016;
Vandkunsten et al. 2016; BAMB 2016; Rebrick 2019), and academic scholars (Malmgqvist et al.
2018; Nygaard Rasmussen et al. 2017; Durmisevic 2006; Moncaster et al. 2019; Cabeza et al.
2013). An increasing number of services, products and processes for material reuse are being
developed in the building sector and commercialised in new business models (e.g. Rebrick, New
Horizon, Spaces4You, Madaster). These new business models vary in their types (e.g. operating
vs. facilitating material reuse (Whalen 2019)), and offer solutions at different steps in the value
chain (e.g. building design, building operation, and demolition to recover materials), or for
different building layers (e.g. facades, structural elements, interiors).

Despite these developments, research indicates that the building sector is still largely discouraging
implementation of the circular economy. Common barriers reported in the literature include the
emphasis on financial metrics and return on investment, the lack of recovery infrastructure, and
inadequate design of buildings for material recovery (Hart et al. 2019; Adams et al. 2017; NuB3holz
et al. 2019).

To overcome such barriers, business model innovation has been one of the focus areas in advancing
circular economy and material reuse practices in the industry, and capitalising on the associated
opportunities (Ness and Xing 2017; Hopkinson et al. 2018; NuBBholz and Milios 2017).



Business models define a set of elements that allow mapping of the organisational architecture to
create, deliver and capture value (Osterwalder and Pigneur 2010) (Massa et al. 2017; Massa and
Tucci 2013). In traditional business model research, value is typically considered as a financial
value for the firm and customers (Massa and Tucci 2014). In the realm of circular and sustainable
business models, value is understood more broadly to encompass a wider range of stakeholders,
such as value chain partners, the environment and society (Massa and Tucci 2014; Liideke-Freund
2010; Bocken et al. 2014; Freudenreich et al. 2019).

Innovating the business model can refer to establishing a new business model or reconfiguring the
elements of an existing business model (Zott and Amit 2010; Massa and Tucci 2014). Business
models go beyond traditional innovation areas, such as products or production processes (Zott et
al. 2011) and allow researchers to study how new products and processes are brought to the market
through value creation processes and value networks (e.g. suppliers) (Massa and Tucci 2014;
Osterwalder et al. 2005; Zott and Amit 2010; Zott et al. 2011).

As in traditional, linear business models, circular business models in the building sector need to
be designed to ensure economic viability and customer value, and will consist of similar business
model elements to commercialise products or services. However, a unique characteristic is their
objective to manage both economic and environmental issues and to optimise value creation in
more than one sustainability dimension.

2.2 Value creation of circular business models for material reuse

The literature reports on a variety of implications on value creation from circular economy
strategies in general, and from material reuse for building products in particular.

Material reuse is associated with financial value due to cost savings from using lower-priced,
secondary materials (Moreno et al. 2016; Verian et al. 2013). Recent studies show that few
financial analyses of the business case for material reuse within the building and construction
sector have been published (Ghisellini et al. 2018; Hart et al. 2019). Studies on circular business
practices in general draw attention to risks from the uncertain prices of secondary materials
(Linder 2013; Linder and Williander 2015) and high costs associated with labour (Whalen et al.
2017) and reverse logistics (Kissling et al. 2013). In the context of building products, Ferreira et
al. (2015) show that the addition of new (and costly) materials may be necessary to meet
regulatory requirements. Jung et al. (2015) suggest total costs are dependent on the value chain
structure, identifying transportation distances, site conditions, and quantities of materials as main
determinants of costs in concrete recovery and reuse.

Material reuse is also associated with employment creation and value for network partners. By
capitalising on the ‘inner circles’ of the circular economy framework, which maintain value
embedded in products and materials at higher levels (EllenMacArthurFoundation 2017, 2016;
ING 2017), new value-adding activities for the recovery and reuse process may be organised
(Wells and Seitz 2005; Singh and Ordofiez 2015). Hestin et al. (2015) show that these activities
are generally more labour intensive than heat recovery, so may have potential to increase net job
creation. Several recent studies identify potential for net job creation from increased circular
economy activities, in different sectors and regions, and using various types of economic input-



output models (Wijkman and Skanberg 2015; Hestin et al. 2015; Milios et al. 2018; Trinomics et
al. 2018; IISD 2018). Assessment of jobs created as outcomes of circular economy projects,
rather than projections, feature less in the literature. Ward et al. (2013) review different
indicators for job creation across the EU. They suggest that, if assessing jobs created directly
from a programme, indicators should be reported in full-time equivalents and unambiguously
defined to allow comparisons.

Material reuse is often associated with superior customer value. Mokhlesian and Holmen (2012)
show that green building development, such as circular economy implementation, has the
potential to reduce total life cycle costs. However, according to Vatalis et al. (2013), the
dominating perception is that environmental sustainability increases initial investment costs,
which is reported to be key in decision-making in the building sector (BAMB 2016; Azcarate
Aguerre et al. 2018). Other potential financial benefits for customers include the ability to charge
a premium for buildings with lower environmental impacts (Witjes and Lozano 2016; Klotz et al.
2007). Improved competitive advantage (Witjes and Lozano 2016; Schenkel et al. 2015) and
innovation, as well as user value (e.g. quality, design and ease of use), are discussed as potential
customer benefits (Schenkel et al. 2015; Klotz et al. 2007). Finally, reduced environmental
impacts, e.g. from raw material consumption and waste, may have positive effects on corporate
image and marketing (Witjes and Lozano 2016; Schenkel et al. 2015; Klotz et al. 2007).

There is much evidence that material reuse has significant potential for environmental impact
reductions, although the extent varies according to material streams and products (Cabeza et al.
2014; NuBholz et al. 2019; Ortiz et al. 2009; Ingrao et al. 2014). Environmental impact
reductions from material reuse depend on the individual case and the processes affected by reuse
(Zink and Geyer 2017; Geyer et al. 2016). Environmental benefits from using secondary
materials vary according to, for instance, the recovery processes required to ensure that the
secondary product fulfils the same functional requirements as the replaced primary product
(Vadenbo et al. 2017). For instance, NuBholz et al. (2019) find that brick reuse has a carbon
saving potential of 99% compared with the primary-based alternative, and plastic reuse when
making facades from a wood-plastic composite has a carbon saving potential of 70-50%.

3. Methods and data collection

This study combines case study research with a multi-method approach to explore how a
business model offering material reuse in the building sector affects value creation. Section 3.1
offers a description of the case companies’ business model, section 3.2 explains the evaluation
and indicator selection approach, and section 3.3 the approach to data collection and analysis.

3.1 A circular business model for material reuse in buildings

This study employs a single case study of a pioneering Scandinavian company offering circular
solutions in the building sector. The company developed a novel business model for recovering
and reusing three material streams from urban material stocks, i.e. secondary glass, wood, and
concrete. Materials were developed into new products for a residential building project between
November 2017 and October 2018. Production and installation are outsourced, and the case
company manages the value chains illustrated in Table 2. Customers of the three reuse products



were two Scandinavian building developers and investors, developing about 20 residential houses

in the same urban area. Table 1 summarises the main dimensions of the business model.

Table 1 Description of case company's business model.

Business model dimensions

Business model design

Value proposition

Customers were two Scandinavian building developers and
investors that developed about 20 residential houses. Building
products were designed to comply with the same standards as
linear benchmark products in terms of price, quality, aesthetics,
functionality, and safety, but with a reduced environmental
impact.

Value creation

The case company was responsible for product development and
project management of the three reuse products, including the
material sourcing. Manufacturing and installation (described in
Figure 1) were outsourced to value chain partners but overseen
by the case company. In addition to product development, the
company has an architecture division, enabling it to capitalise on
building design capabilities to incorporate material reuse and to
offer integrated circular economy building solutions.

Value capture

Main revenues concern payments to building developers. The
company was also granted a national innovation subsidy that
helped cover part of the project management and innovation
costs related to the project. Costs incurred mainly involved
R&D, production and project management.

The manufacturing processes and value chains are illustrated in Table 2 and Figure 1.

Table 2 Description of the three products.

Material Characterisation Process description

reuse strategy

Wood By-product use

Wood is obtained from by-products and lower-grade

production of a plank producer close to the case company.
Through cutting, surface treatment and mounting, the wood

is developed into floor and facade cladding (indoor and
outdoor).




Glass Material reuse Post-consumer windows are collected from demolition sites
and dismantled to obtain the glass. Glass is assembled into
new windows by adding customized frames and a second
layer to comply with energy efficiency standards.

Concrete Material recycling  Post-consumer concrete from demolition sites is crushed
into aggregates and mixed with primary cement and other
concrete components to form new concrete.

«Fly ash
- Cement

PRIMARY
MATERIAL
SUPPLY

ONSITE
STORAGE
AND ONSITE PRODUCTION &
PREPARATION LAYING OF CONCRETE
CONCRETE
PLANKS INSTALLED IN
« Development & testing FACADE; WALL; FLOOR
« Certification —

« Equipment WINDOW INSTALLED AND

CLEANED

V

PLANK PLANK

PRODUCTION ODUCTIO!

(PRIMARY) " : (SECONDARY) —) INST:I\LNLQV-UON
BUILDING

SITE

«Wood byproduct from « Cutting
plank production - Surface treatment
«Wood for frames «Profiling joints
emr\ty glass

PRIMARY
MATERIAL
SUPPLY

N

( COLLECTION )—

WINDOW
ASSEMBLY

WINDOW
DISASSEMBLY

—

GLASS
- Dismantling « Frame productlan
«Testing « Assembly of glass
« Cleaning « Energy efficiency tests

Figure 1 Overview of value chain and processes for the three products.

The single case study design with its three sub-units (wood, windows, and concrete) was chosen
to enable a deeper understanding of the impacts of commercialising material reuse in products. To
date, little research has examined the value creation in business models for reuse in the building
sector (Hart et al. 2019). Although single case studies limit generalisability, they are regarded as
beneficial in providing in-depth, data-rich descriptions of a phenomenon (Yin 2013). If



comprehensively executed, single case study approaches are sources of tangible, context-
dependent knowledge that produce exemplars of a phenomenon in a systematic way (Flyvbjerg
2006). The narrative such exemplars produce can reduce the complexity of a real-life phenomenon
and they are considered to play a central role in the development of scientific knowledge
(Flyvbjerg 2006).

3.2 Evaluation approach and indicators

The evaluation approach in this study followed the two steps suggested by Liideke-Freund and
Schaltegger (2017) for conducting integrated sustainability evaluations at business model level.

In the first step, value aspects of materiality relating to the case were identified. This was done
by reviewing literature on material reuse in the building sector, circular economy and resource
efficiency, sustainable business models, and green construction (section 2.2). Three business
developers and one senior architect from the case company, and a sustainability manager of a
leading Scandinavian building developer, were also consulted. The focus was on impacts that
were closely related to building materials and products (e.g. impacts from production, waste
generation, costs of building products), rather than impacts that result from design choices at
building level (e.g. biodiversity, affordable housing). By reviewing sustainability assessment
approaches and their indicators (e.g. KPIs in the building sector, Global Reporting Initiative),
suitable indicators for operationalising the value aspects were identified.

In the second step, the list of pre-selected indicators was discussed with the three business
developers and the senior architect of the case company. This resulted in a final set of indicators
regarded as suitable for identifying the most relevant implications of how the business model
creates value for different stakeholders. The evaluation design was predominantly informed by
practitioners’ views on key value implications related to their business model and relevance of
indicators to industry stakeholders. In addition, indicator selection was determined by feasibility
considerations with regard to resources, time and data accessibility (Turcu 2013). The final
indicators selected were:

(1) Financial structure and viability: Implications for the case company’s financial
structure and viability are investigated by identifying costs and revenues.

(2) Employment creation and value for partners in the value chain network:
Implications for other firms in the value network are investigated by calculating overall
employment creation and identifying business opportunities for other actors in the value
network that would not occur in linear production practices.

(3) Customer value: Benefits from material reuse for building developers and investors
are investigated.

(4) Environmental impact reductions: Environmental impact reductions compared with
linear reference products are examined along multiple impact categories, focusing on
Global Warming Potential (GWP).



3.3 Data collection and analysis

Data was collected and analysed in the period September 2018 to January 2019 through a variety
of qualitative and quantitative methods.

3.3.1 Financial structure and viability

A cost structure analysis was carried out for each of the three reuse products, to identify the case
company’s costs and revenues and to discuss implications for financial viability. Cost structures
were analysed in two steps. Cost factors (i.e. activities and inputs) in product development were
identified to group and organise invoices and related costs. All relevant company invoices were
reviewed, and company employees were interviewed to understand production steps and material
inputs required for each reuse product. After identifying the generic value chain activities and
inputs for each reuse product, every single invoice from the project was allocated to its cost item.
Company employees were consulted to verify accurate understanding of financial data and value
chains, and results of the cost structure analysis were compared with the total project costs to
ensure accuracy. Financial viability was analysed using the business case analysis available for
the case company’s accounting data.

3.3.2 Employment creation and value for partners in the value chain network

Estimates of hours spent on the project by the case company and project partners (i.e. material
suppliers, manufacturers, installers) were collected to analyse the impact on employment creation.
Accounting data of the case company and surveys with project partners were used for this analysis.
The resulting sum of total work hours was converted into an equivalent of full-time employment
for half a year for one person (FTE) (Ward et al. 2013). The FTE equivalent was calculated by
dividing the total number of hours by an average of work hours per week in Scandinavia (37 hrs)
and the number of months of work per half year.

Our focus was on impacts at business model level and assessing outcomes of the project rather
than projections from upscaling material reuse practices. Therefore, net employment in other
sectors and potential substitution effects that would occur when upscaling the business model were
outside the scope of our study. Given the current scale of business activities in the studied business
model, it is unlikely that material reuse has traceable substitution impacts in other industries.
However, when aiming to upscale the production strategies in the industry, changes at
macroeconomic level and shifts in economic activities in other sectors are important to consider.

Qualitative analysis of the value chain processes was performed to investigate new or improved
business opportunities for value chain partners. For this, the production processes for wood,
glass, and concrete were studied to identify whether (1) new value-adding activities were created
compared with conventional, linear material recovery, or whether (2) some of the value chain
processes were more labour intensive.

3.3.3 Customer value

A survey of the building developers and investors helped to assess customer value and potential
benefits from material reuse. To develop the survey, we first performed a literature review to
identify the most relevant value drivers and their indicators for building developers and
investors. The literature included academic studies on value creation from circular practices



(Schenkel et al. 2015; Park et al. 2010; Witjes and Lozano 2016), sustainability assessment of
buildings (Klotz et al. 2007; Celik and Attaran 2011), and traditional value metrics in building
development that are related to the choice of building products (van Bueren and Broekhans 2013;
Zaeri et al. 2016). The compiled list of indicators was then discussed with managers of three
Scandinavian building developers (one involved in the case project and two others), and they
were asked to rank the indicators according to their perceived relevance and to add value drivers
that were missing from the list. The final list of indicators was categorised into three overarching
groups, i.e. (1) Business value, (2) Stakeholder value and product performance, and (3) Green
leadership (Figure 2).

2) Stakeholder and product
performance

1) Business value 3) Green leadership

Financial value Product characteristics and Environment

user value

*Revenue and profitability

®Low purchase prices of building
products

® Ability to charge premium when
exiting building

®Reduced lead time

®Proper time management and
controlling

®Cost reduction in logistic
distribution

®Meeting required physical and

functional product qualities (e.g.

space, indoor climate, luxury)
®Preserving cultural heritage
and creating identity of new
building

®Improved product design (e.g.
aesthetics)

®Reduced environmental
impacts

®Reduced carbon emissions
®Waste reduction and landfill
contribution

®Reduction of raw material
consumption

Certification, reporting, and green
images

Competitive advantages Stakeholders value
®Improved relationships with
project partners
®Relationship value with public .
organisations and local authorities Eorporate image .
*Pro-active compliance and Useful for CSR reporting/ annual
anticipate green reforms reports
*Greater employee motivation ® Improved ranking in
*Job creation environmental certification
:Betler stock rr_\arke_t performance ® Lighthouse project

Customer satisfaction (green demonstrating R&D and

customers; ; ; .
) sustainable innovation

®Learning and knowledge creation/
innovation and R&D

®Response to societal trends (e.g.
policy drivers)

®Response to industry trends
®Frontrunner advantage

®Link to strategic vision (e.g.
SDGs)

®Access to new markets/
customers

®‘Green’ marketing/ enhanced

Figure 2 Overview of categories and indicators for customer value assessment.

Once the survey had been prepared, building developers of the case project were contacted. For
each of the two companies, two employees (holding the positions Sustainability Director,
Project Development, Business Development Director, and Public Relations Manager) ranked
the extent to which different types of value were realised from material reuse on a scale of 0-3,
with 0 representing “not realised” and 3 “fully realised”. A limitation of the self-assessment was
the timing of the survey, as some of the potential benefits (e.g. financial performance, economies
of scale) are only expected to materialise in the future. Other benefits (e.g. marketing effects) had
already materialised at the time of the evaluation.

3.3.4 Environmental impacts

To assess environmental impacts of the three reuse products, we conducted life cycle impact
assessments (LCA) of each reuse product following the European Product Standard EN15804.
For the wood products, the product category rule for wood and wood-based products for use in
construction (EN16485) was used. System boundaries were set at cradle to gate. LCAs were
modelled in SimaPro using the Ecoinvent 3.4 database. For impact categorisations, we used
ILCD’s mid-point approach, as its method for Global Warming Potential (GWP) takes into



account biogenic carbon and carbon storage as prescribed by the IPCC 2007 method. Models
containing the processes used and their contributions to GWP are presented in Appendixes A to
C. Data for modelling the reuse products was based on internal company data. Publicly available
data was used to model reference projects (also see Table 3 for key assumptions and their

references).

We used global warming potential (GWP) as an indication of carbon saving potential, and also
discussed the impacts in other impact categories when significant savings or trade-offs were
observed. It should be noted that environmental assessment was conducted for the total amount
of secondary-based building materials in the construction project. This does not equal the total
amount of windows or concrete used in the building, as primary-based materials were also used.

Table 3 Overview of products, processes, and critical assumptions for LCA models.

Windows (1195.88 m2)

Secondary-based product

Primary-based reference product

Critical assumptions

Facade window with wood-frame and

double-layered glass (primary and

secondary).

e Disassembly of post-consumer
windows

e  Manufacturing of wood frame

e Insertion of reused glass

e Insertion of primary glass (normal and
security glass)

e Paint for wooden frame

e Transport

Facade window with aluminium-wood

frame and triple-layered glass.

e  Manufacturing of wood-aluminium
frame

e Insertion of primary glass, three
layers (normal and security glass)

e  Transport

Layers of glass of
reference product
Aluminium-wood
frame as it is the
standard in the
industry
Proportion of
reused glass in
reuse product

Concrete (837m3)

Secondary-based product

Primary-based reference product

Critical assumptions

Concrete containing secondary aggregates

Concrete containing primary gravel as

Transport

e Secondary aggregates aggregate distances lower for
e Sand e Primary aggregates secondary gravel
e Cement e Sand because of local
e  Water e Cement sourcing
e Plasticiser e  Water
e  Transport e  Plasticiser

e  Transport

Wood (3755 m2)

Secondary-based product

Primary-based reference product

Critical assumptions

Cladding from wood plank off-cuts
e 2nd grade wood

e  Transport
o Steel

e Paint

Cladding from primary wood
e st grade wood

e  Transport
e  Steel

e Paint

Allocation
approach




4. Results

This section presents implications for value creation with regard to the four indicators.
4.1 Financial structure and viability

The case company was able to recover all costs for the three reuse products in the first
production line, but with only modest profit. For reasons of data confidentiality, only
implications on financial viability are discussed. There is a significant potential for improving
the financial value for all three products. Production can be optimised through leaner production
processes, fixed costs (e.g. initial R&D costs) will be reduced in future production lines, and
economies of scale can be utilised. Even without the innovation subsidy that helped cover R&D
costs, a viable business case in future production lines, where R&D costs will be significantly
lower, seems feasible.

Regarding the financial structure, the vast majority of revenues stemmed from the building
developers’ payments, with smaller proportions from the innovation grant. The latter comprises
about 1% of total revenues for the wood products, 4% for windows, and 11% for concrete. Costs
varied considerably among the three products (Figure 3Figure 4Figure 5). In the case of
windows, the largest proportion of total costs derived from production (above 80%), while
material sourcing costs were below 5% (for reasons of data confidentiality, results of the cost
structure analysis are presented only in relative terms). In the case of concrete, the largest
proportion of total costs derived from production (with much stemming from rental of
production equipment), but primary material sourcing (e.g. cement) was also a significant cost
driver. R&D costs were around 10% of total costs. In the case of wood, the largest proportion of
costs resulted from material sourcing of off-cuts, which are of high-quality wood, followed by
production costs.



45%
40%
35%
30%
25%
20%
15%
10%

5%

0%

Value chain cost factors

Material sourcing Material sourcing Production Installation/
(primary) construction

(secondary) and
preperation

m Share of Total Costs -Circular Concrete

Figure 3 Costs drivers for secondary-based concrete.

90,00%

80,00%

70,00%

60,00%

50,00%

40,00%

30,00%

20,00%

10,00%

0,00%

Material
sourcing
(secondary)

Value chain cost factors

— R
Material R&D Preperation  Production
sourcing for reuse
(primary)

m Share of Total Costs Circular Product (Windows)

Figure 4 Costs drivers for secondary-based windows.

Installation

Labour (project
management)

Labour (for
project
management)



Chart Area

Value chain cost factors

50%
45%
40%
35%
30%
25%
20%
15%
10%
5%
0%
Material sourcing Production Installation Labour (for project
(secondary) management)

Share of Total Costs Circular Product (Wood)

Figure 5 Cost drivers for secondary-based wood cladding.

4.2 Employment creation and value for partners in the value chain network

The total number of work hours throughout the course of the project was equal to 18.4 jobs
(equivalent to half a year of full-time employment) (see section 3.3.2). Production of windows
generated the equivalent of 2.8 jobs, wood reuse 13.2 jobs, and concrete 2.4 jobs. The higher
number in the case of wood reuse can be attributed to labour intensive profiling and installation
of planks for floors and cladding, which are shorter than conventional planks.

Table 4 Overview of jobs created during the course of the project.
Products Total hours = Months full-time work | Jobs created (eq. to

spent created (37 hrs per week) | half a year of full-
time employment)

Windows 2 500 16.9 2.8

Concrete 2170.5 14.7 2.4
1 11 700

Wood (cladding 791 132

and floors)

TOTAL 16 370.5 110.6 18.4

We also analysed the reuse processes to identify (1) new and (2) more labour-intensive business
activities compared with linear production. This revealed that reuse strategies offered new
business opportunities to material suppliers and manufacturers in the value chain.



For new value-adding activities, the disassembly of post-consumer windows can be considered
as a new business activity that does not occur in linear production practices. Also, wood recovery
offered a new income opportunity for the supplier of off-cuts, which were previously only stored,
as there was no demand other than for heat recovery. The project enabled the reuse of glass that
would normally be recycled, but that now provides a higher income for suppliers.

Several more labour-intensive processes compared with conventional, linear production were
created: the installation of wood cladding, as planks are shorter, and manufacture of new window
frames to accommodate multiple layers of glass.

4.3 Customer value

Findings regarding business value show that building developers and investors valued highly the
innovation and knowledge generated in the project, but also the opportunity to respond to
societal trends (each ranked with a mean score of 3/3 points), to gain a frontrunner advantage,
and to realise their company’s strategic vision (e.g. SDGs) (each ranked with 2.3/3 points).
Financial benefits for building developers and investors were not identified (e.g. ‘low purchase
price of building products’ (0/3) and “ability to charge premium when exiting building’ (0.3/3)).
This may partly stem from the additional costs of R&D required for the development of the first
production line, but also from the timing of the evaluation; it was not yet possible to evaluate
long-term financial performance, including effects from economies of scale, of the products.

In the category stakeholder value and product performance, scores for the indicators varied.
Satisfying the required physical and functional product qualities (2.3/3), and improved
relationships with project partners (2.3/3) achieved the highest scores. Lower scores were given
to job creation effects (0.7/3), which may partly be due to a lack of evaluation and knowledge on
employment creation at the time of the survey.

Value creation in green leadership was most strongly reported with regard to improvements in
corporate image (3/3) and CSR reporting (2/3). As the buildings were not sustainability certified,
benefits of improved ranking in sustainability assessment schemes (e.g. LEED, BREAM,
DGNB) were not relevant. Realisation of environmental improvements (i.e. reduced carbon
emissions, waste reduction and landfill contribution, reduction in raw material consumption)
were ranked 2.1/3. Again, this may be due to the timing of the evaluation, where LCAs by
external consultants were still under preparation and only LCAs conducted during product
development were available.

4.4 Environmental impacts

The carbon saving potential (CSP) of each product is presented in Table 5, and indicates that
environmental impact reductions are significant, but vary greatly between the three alternatives.

LCA results for windows suggest a carbon saving potential of 56 t-CO2-eq, which is 77% lower
than the primary materials-based reference product. However, as the secondary material-based



product contains more materials per m2 window, and has a different ratio of wood to glass
compared with the reference product, LCA results indicate several trade-offs with other impact
categories. For instance, due to the high wood content, the secondary-based product performs
worse in the acidification and land-use impact categories.

The secondary-based concrete performs better in all impact categories compared to primary
concrete. Its carbon saving potential is 11 t-CO2-eq, so 4% lower than the reference product. As
91% of the GWP impact of the reference product stems from cement and only 5% from primary
gravel, using secondary aggregates in the concrete can only achieve incremental GWP savings.
However, LCA results show that using secondary aggregates in concrete has the potential to
reduce land use impacts by 37%, mineral fossil and renewable resource depletion by 30%, and
water resource depletion and human toxicity (cancer effects) by 20%.

The wood products (co-product of plank production) are estimated to have an overall carbon
saving potential of 73.3 t CO2-eq in the production stage, as the wood product provides a carbon
storage. However, the product category rule for wood and wood-based products for use in
construction (EN16485) (section 3.3.4) prescribes a physical mass allocation approach.
Employing physical mass allocation renders the benefit of the stored carbon of co-products equal
to the main product (planks), even if the next cascading step of the co-product provides carbon
storage rather than incineration with heat recovery. In practice, this would imply that a lower
cascading level, such as heat recovery, was equally preferable from a CO2-emission point of
view than further processing the co-product for cladding purposes and prolonging the carbon
storage. This contradicts recent studies, which find that the extended carbon saving function and
primary material substitution of co-product use can be considered relevant to reducing
environmental impacts at product level (Mehr et al. 2018; Taylor et al. 2017).

As standards are developed with a product focus, they do not adequately reflect the benefits of
material cascading of wood in the overall system. This can be regarded as a limitation of the
standard when applied to circular material strategies, which is also highlighted by Taylor et al.
(2017). These authors suggest that economic allocation (in which environmental impacts are
allocated based on economic value of the product and co-product) may be more appropriate for
capturing environmental savings of the co-products.

Table 5 LCA Results of GWP Impact Category for each reuse product.

Concrete | Windows Wood
Final results of primary- 271 72.5 73.3
based product (t CO2-eq)
Final result of secondary- 260 16.5 73.3
based product (t CO2-eq)
CSP (t CO2-eq) 11 56 n.a.
CSP (%) 4% 77% n.a.




5. Discussion

This section presents a discussion of implications of the model for value creation with regard to
the four indicators.

5.1 What are the implications of material reuse for the business model’s financial structure
and viability?

The case company was able to recover all investment and production costs after the first
production line, although profits were modest, and with the help of an innovation grant. As the
innovation grant only covered a part of R&D costs, which will be significantly lower in future
production lines, material reuse has potential to be financially viable even without the innovation
grant. It should be noted that this study investigated a first production line, when integration of
value chain activities and optimisation of production practices were still in their early stages. We
argue that, with economies of scale and efficiency improvements, financial viability has great
potential to become more price-competitive compared with linear production practices.
Integration of material reuse in companies operating linear business models may be attractive.

Nevertheless, findings also indicate that achieving financial viability of material reuse can be
challenging. Products made from reused materials can require substantial manufacturing
processes and input of (costly) primary materials, while secondary material inputs may still
generate substantial costs (Figure 3Figure 4Figure 5). The widespread assumption that reuse
strategies generate cost savings by reducing costs for materials may not always hold true.
Financial viability requires careful product and value chain design and control of cost factors to
ensure that total costs do not exceed those of primary-based products.

5.2 What are the implications of material reuse for employment and value for network
partners?

With a total of 18.4 jobs created (equivalent to six months of full-time employment) the business
model clearly created employment. Given that reuse products contained several processes that
are more labour intensive than primary production (e.g. installation of wood cladding, as planks
are shorter, disassembly of post-consumer windows, and manufacturing of new window frames),
there is an indication that material reuse can increase employment compared with linear
production practices. Employment creation can be expected to be lower in future production
lines, as about a third of all labour concerned R&D activities of which there will be less in the
future. Improved product design and more integrated and leaner manufacturing processes may
reduce labour intensity.

Findings resonate with common assumptions that business models for material reuse generate
wider economic benefits for partners in the value network (ING 2017,
EllenMacArthurFoundation 2017, 2015). Value chains that were established for material
recovery, manufacturing, and installation of reuse products provided new or improved revenue



streams for secondary material suppliers and manufacturers, helping them to capture the
economic value of the ‘inner circles’ (EllenMacArthurFoundation 2015).

Given the current scale of the business model, it is unlikely that manufacturing activities have
traceable substitution effects in other industries (i.e. new value-adding production activities
minus value-adding activities for primary products that are substituted). However, to assess net
economic impacts and employment creation if the business model were upscaled, more
comprehensive, econometric analyses are needed. Investigation of the types of jobs created or
the geographical location of jobs could also be of interest for policy-makers (Trinomics et al.
2018).

5.3 What are the implications of material reuse for customer value?

All three products were designed to be as competitive as possible against linear reference
products in terms of price and quality. We found that building developers and investors were
generally positive to the products made from reused materials. Customer value was demonstrated
across all three investigated categories but, at the time of the evaluation, material reuse gave no
indication of superior financial benefits. This may partly stem from the additional costs of R&D
required for the first production line, but also from the timing of the evaluation, because exit and
long-term financial performance of the building, along with effects of economies of scale, were
unknown.

Nevertheless, building developers and investors reported several non-financial benefits from
material reuse, including the opportunity to innovate and create knowledge that may put their
organisations in a better position to adapt to societal trends or future changes in legislation.
Gaining a frontrunner advantage and contributing to the companies’ strategic vision (e.g. SDGs)
were clear benefits, as well as the development of products that can deliver significant
environmental improvements, and potentially future cost savings through improvements in
production efficiency.

5.4 What are the implications of material reuse for environmental impacts?

Life cycle assessment of the three reuse products indicates significant reductions in
environmental impact (section 4.4, Table 5). A key finding is that the carbon saving potential
between the three solutions varies significantly (e.g. 4% for secondary-based concrete and 77%
for secondary-based windows) and that there are trade-offs between different impact categories.

Another finding is that material reuse cannot always address the main contributing processes of a
product. Our LCA shows that concrete cannot significantly reduce climate change impacts
compared with primary-based concrete. This is because cement production accounts for 91% of
total GWP impacts and cannot be reduced by using secondary aggregates. However, the reuse
products performed better across all impact categories, with significant improvements in land use
impacts (37%), mineral fossil and renewable resource depletion, as well as water depletion and
human toxicity (30%). As such, despite the relatively low carbon saving potential, the reuse



products can contribute to a gradual development of a more sustainable product with the
potential to improve regional processes.

An overall finding is that environmental impact reductions are not realised by default. Product
design and value chain processes must be carefully considered before environmental impacts can
be improved. Building products are governed by strict regulations on, for example, energy-
efficiency and safety, so may require significant input of primary materials to meet current
construction standards. Impacts from primary materials that need to be added during production
can outweigh the benefits from using secondary materials, and unavoidable processes (e.g.
transport, cement input) may also contribute significantly to environmental impacts.

6. Conclusion

This study examined a business model implemented by a pioneering Scandinavian company,
which offers three building products made from reused materials from urban mines (i.e.
windows, wood cladding, and concrete), and its implications for value creation. The implications
were considered for multiple stakeholders, such as the case company, customers, value chain
partners, and the environment, allowing evaluation of whether material reuse is a viable
industrial business model with improved sustainability outcomes and whether

the required innovations and institutional transition are worth pursuing. The study contributes to
this in two ways.

Firstly, the study advances understanding of the implications of material reuse for value creation
for different stakeholders. In the first production line, financial viability for the case company
was modest, deriving from increased production efficiency and economies of scale, and material
reuse has the potential to become a price-competitive production practice. Findings indicated that
material reuse provided new business opportunities for value chain partners, in particular
material suppliers, and created significant employment. The business model was found to
provide a superior customer value, in terms of innovation, knowledge creation, ability to respond
to societal trends, and positive effects on reputation and marketing. The findings from LCAs
indicated that all three products delivered clear environmental improvements at product level,
but the reductions of environmental impact differed between the three alternatives and there were
several trade-offs between different impact categories.

Secondly, the study summarised considerations with regard to financial and environmental
benefits, as material reuse does not by default result in financial and environmental savings
(section 5.1 and 5.4). This is because products made from reused materials may require
substantial manufacturing processes and input of primary materials to transform the material into
a condition and a location suitable for reuse, especially as building products are governed by
strict regulations on, for example, energy-efficiency and construction safety.

If reuse is to generate financial benefits and become price-competitive with linear products,
processes and inputs must be managed carefully, to ensure that the extra costs of recovery
manufacturing processes do not outweigh potential cost savings from secondary material use.
The more processes and material inputs required by a reuse product, the less likely it is to
become price-competitive through potential cost savings from lower-priced secondary materials.


ju7654nu
Highlight


Optimisation, integration of value chains, and economies of scale are identified as key
requirements to improve the competitiveness against linear value chains.

Generation of environmental benefits requires careful operationalisation of material reuse to
achieve environmental improvements, as unavoidable processes (e.g. transport, cement input)
may be dominant contributions to the total environmental impacts. There are exceptions where
secondary material use cannot improve the main processes that contribute to environmental
impact. In the case of concrete, for instance, cement input accounts for 91% of total GWP
impacts, and this figure cannot be reduced by using secondary aggregates.

The multi-methods research approach used in this study has several methodological limitations.

The research evaluates the case company’s business model and its impacts at a specific point in
time. Impacts identified are only an initial snapshot of emerging value chains and product
designs, and improved product design or more integrated, leaner value chains could improve the
potential for carbon savings and financial value, but also reduce the job creation effects. The
results may have also been influenced by the timing of the survey for the customer value
assessment. The project received a lot of publicity and had positive effects on the marketing of
building developers. Other potential impacts, especially financial value for building developers
and investors, may only materialise in the future (e.g. exit performance of the building,
economies of scale of the products).

Applying LCA to circular economy practices (i.e. product systems with secondary material use)
is relatively new and entails methodological challenges (Rasmussen et al. 2018; Hafliger et al.
2017; Taylor et al. 2017). For instance, in the case of the wood products, the product category
rule’s prescribed allocation approach (section 3.3.4) was not able to capture the benefits of
cascading wood co-products. We find that the focus of the LCA standards on products is a
limitation to capturing impacts from material reuse and cascading.

Future research is needed to investigate the environmental and economic impacts of material
reuse at industry level if the business model were to be upscaled. Consequential LCAs and
econometric analyses of scaled-up models of circular solutions are needed, to account for net
value added and net job creation impacts across the entire economy, as well as environmental
savings at industry level that consider market and substitution effects. Another avenue for future
research could be to explore potential societal benefits from material reuse and the methods and
indicators that are suitable for such an assessment, as well as developing LCA standards to make
them more suitable for capturing benefits generated by material cascading.

Acknowledgements

This research was supported by the Mistra REES (Resource Efficient and Effective Solutions)
programme, funded by Mistra (The Swedish Foundation for Strategic Environmental Research).
The lead author would like to thank the case company for supporting the research and providing
data access and constructive feedback, and her supervisors Prof. Nancy Bocken, Prof. Oksana
Mont, and Andrius Plepys, and the two anonymous reviewers for their constructive feedback.



J.N. initiated the paper, developed the research design, collaborated with the case company,
collected and analysed all data (making a minor contribution in the life cycle assessment), and
compiled the full draft. F.N.R. conducted the life cycle assessment, collected required data, and
provided feedback in the review process. K.W. assisted with the conceptual development of the
financial analysis, contributed to the review of the background literature, and provided feedback
in the review process. A.P. contributed to the review of the background literature and provided
feedback in the review process.

References

3XN. 2016. Building a Circular Future. Copenhagen, Denmark.

Adams, K. T., M. Osmani, T. Thorpe, and J. Thornback. 2017. Circular economy in construction:
current awareness, challenges and enablers. Paper presented at Proceedings of the
Institution of Civil Engineers-Waste and Resource Management.

Azcarate Aguerre, J., T. Klein, A. den Heijer, R. Vrijhoef, H. Ploeger, and M. Prins. 2018.
Facgade Leasing: Drivers and barriers to the delivery of integrated Facades-as-a-Service.
Journal of Real Estate Quarterly 17(3).

Baccini, P. and P. H. Brunner. 2012. Metabolism of the anthroposphere: analysis, evaluation,
design: MIT Press.

BAMB. 2016. Buidlings as Material Banks: D1_ Synthesis of the State-of-the-Art. Brussels:
VITO.

Bocken, N., S. Short, P. Rana, and S. Evans. 2014. A literature and practice review to develop
sustainable business model archetypes. Journal of Cleaner Production 65: 42-56.

Cabeza, L. F., L. Rincoén, V. Vilarifio, G. Pérez, and A. Castell. 2014. Life cycle assessment
(LCA) and life cycle energy analysis (LCEA) of buildings and the building sector: A
review. Renewable and Sustainable Energy Reviews 29: 394-416.

Cabeza, L. F., C. Barreneche, L. Mird, J. M. Morera, E. Bartoli, and A. |. Fernandez. 2013. Low
carbon and low embodied energy materials in buildings: A review. Journal of Renewable
Energy Reviews 23: 536-542.

Celik, B. G. and S. Attaran. 2011. Customer-centric view of sustainable buildings: The case of
LEED®. Paper presented at Proceedings of the Associated Schools of Construction 47th
Annual International Conference.

Cossu, R. and I. Williams. 2015. Urban mining: Concepts, terminology, challenges. Waste
management 45: 1-3.

Danish_EPA. 2015a. Building a Circular Future: Essentials. Copenhagen. Denmark:

Danish_EPA. 2015b. Udredning af teknologiske muligheder for at genbruge og genanvende
beton. Copenhagen:

Durmisevic, E. 2006. Transformable building structures: Design for dissassembly as a way to
introduce sustainable engineering to building design & constructionthesis, TU Delft,
Delft. The Netherlands.

EllenMacArthurFoundation. 2015. Towards a Circular Economy: Business Rationale for an
Accelerated Transition UK: Ellen MacArthur Foundation

EllenMacArthurFoundation. 2016. Circularity in the built environment: Case studies. UK:
EllenMacArthurFoundation.

EllenMacArthurFoundation. 2017. Achieving ,Growth Within‘: A €320-Billion Circular Economy
Investment Opportunity Available to Europe to 2025.



Evans, S., D. Vladimirova, M. Holgado, K. Van Fossen, M. Yang, E. A. Silva, and C. Barlow.
2017. Business model innovation for sustainability: Towards a unified perspective for
creation of sustainable business models. Journal of Business Strategy and the
Environment 26(5): 597-608.

Ferreira, J., M. Duarte Pinheiro, and J. de Brito. 2015. Economic and environmental savings of
structural buildings refurbishment with demolition and reconstruction - A Portuguese
benchmarking. Journal of Building Engineering 3: 114-126.

Flyvbjerg, B. 2006. Five misunderstandings about case-study research. Journal of Qualitative
Inquiry 12(2): 219-245.

Freudenreich, B., F. Lideke-Freund, and S. Schaltegger. 2019. A Stakeholder Theory
Perspective on Business Models: Value Creation for Sustainability. Journal of Business
Ethics: 1-16.

Geyer, R., B. Kuczenski, T. Zink, and A. Henderson. 2016. Common misconceptions about
recycling. Journal of Industrial Ecology 20(5): 1010-1017.

Ghisellini, P., M. Ripa, and S. Ulgiati. 2018. Exploring environmental and economic costs and
benefits of a circular economy approach to the construction and demolition sector. A
literature review. Journal of Cleaner Production 178: 618-643.

Hafliger, 1.-F., V. John, A. Passer, S. Lasvaux, E. Hoxha, M. R. M. Saade, and G. Habert. 2017.
Buildings environmental impacts' sensitivity related to LCA modelling choices of
construction materials. Journal of Cleaner Production 156: 805-816.

Hansen, E. G., F. Grosse-Dunker, and R. Reichwald. 2009. Sustainability innovation cube—a
framework to evaluate sustainability-oriented innovations. International Journal of
Innovation Management 13(04): 683-713.

Hart, J., K. Adams, J. Giesekam, D. D. Tingley, and F. J. P. C. Pomponi. 2019. Barriers and
drivers in a circular economy: the case of the built environment. 80: 619-624.

Hestin, M., T. Faninger, and L. Milios. 2015. Increased EU Plastics Recycling Targets:
Environmental, Economic and Social Impact Assessment.

Hoglmeier, K., G. Weber-Blaschke, and K. Richter. 2013. Potentials for cascading of recovered
wood from building deconstruction—a case study for south-east Germany. Resources,
Conservation and Recycling 78: 81-91.

Hopkinson, P., H.-M. Chen, K. Zhou, Y. Wang, and D. Lam. 2018. Recovery and reuse of
structural products from end-of-life buildings. Paper presented at Proceedings of the
Institution of Civil Engineers - Engineering Sustainability.

[ISD. 2018. Estimating Employment Effects of the Circular Economy. International Institute for
Sustainable Development.

ING. 2017. Circular construction. The Netherlands: ING.

Ingrao, C., A. L. Giudice, C. Tricase, R. Rana, C. Mbohwa, and V. Siracusa. 2014. Recycled-
PET fibre based panels for building thermal insulation: environmental impact and
improvement potential assessment for a greener production. Science of the Total
Environment 493: 914-929.

Jung, J.-S., S.-H. Song, M.-H. Jun, and S.-S. Park. 2015. A comparison of economic feasibility
and emission of carbon dioxide for two recycling processes. KSCE Journal of Civil
Engineering 19(5): 1248-1255.

Kissling, R., D. Coughlan, C. Fitzpatrick, H. Boeni, C. Luepschen, S. Andrew, and J. Dickenson.
2013. Success factors and barriers in re-use of electrical and electronic equipment.
Resources, Conservation and Recycling 80: 21-31.

Klotz, L. E., M. Horman, and M. Bodenschatz. 2007. A lean modeling protocol for evaluating
green project delivery. Lean Construction Journal 3(1).

Koutamanis, A., B. van Reijn, and E. van Bueren. 2018. Urban mining and buildings: A review of
possibilities and limitations. Journal for Resource Conservation and Recycling 138: 32-
39.



Linder, M. 2013. Capturing Value from Green Offers—An Examination of Environmental
Differentiation and Economic Performancethesis, Engineering, Chalmers University of
Technology.

Linder, M. and M. Williander. 2015. Circular Business Model Innovation: Inherent Uncertainties.
Business Strategy and the Environment. 1-15.

Lideke-Freund, F. 2010. Towards a Conceptual Framework of Business Models for
Sustainability. In Knowledge Collaboration and Learning for Sustainable Development,
edited by J. Q. R. Wever, A. Tukker, J. Woudstra, F. Boons, N. Beute. Delft.

Lideke-Freund, F., B. Freudenreich, S. Schaltegger, I. Saviuc, and M. Stock. 2017.
Sustainability-oriented business model assessment—A conceptual foundation. In
Analytics, innovation, and excellence-driven enterprise sustainability: Springer.

Malmaqvist, T., M. Nehasilova, A. Moncaster, H. Birgisdottir, F. N. Rasmussen, A. H. Wiberg,
and J. Potting. 2018. Design and construction strategies for reducing embodied impacts
from buildings—Case study analysis. Energy and buildings 166.

Massa, L. and C. L. Tucci. 2013. Business model innovation. The Oxford handbook of
innovation management 20(18): 420-441.

Massa, L. and C. L. Tucci. 2014. Business Model Innovation. In The Oxford handbook of
innovation management, edited by M. Dodgson, et al. Oxford.

Massa, L., C. L. Tucci, and A. Afuah. 2017. A critical assessment of business model research.
Academy of Management Annals 11(1): 73-104.

Mehr, J., C. Vadenbo, B. Steubing, and S. Hellweg. 2018. Environmentally optimal wood use in
Switzerland—Investigating the relevance of material cascades. Journal for Resource
Conservation and Recycling 131: 181-191.

Milios, L., A. Esmailzadeh Davani, and Y. Yu. 2018. Sustainability Impact Assessment of
Increased Plastic Recycling and Future Pathways of Plastic Waste Management in
Sweden. Journal of Recycling 3(3): 33.

Mokhlesian, S. and M. Holmén. 2012. Business model changes and green construction
processes. Journal of Construction Management Economics 30(9): 761-775.

Moncaster, A. M., F. N. Rasmussen, T. Malmqvist, A. H. Wiberg, and H. Birgisdottir. 2019.
Widening understanding of low embodied impact buildings: Results and
recommendations from 80 multi-national quantitative and qualitative case studies.
Journal of Cleaner Production.

Moreno, M., C. De los Rios, Z. Rowe, and F. Charnley. 2016. A Conceptual Framework for
Circular Design. Sustainability 8(9): 937.

Ness, D. A. and K. Xing. 2017. Toward a Resource-Efficient Built Environment: A Literature
Review and Conceptual Model. Journal of Industrial Ecology.

NufRholz, J. and L. Milios. 2017. Applying circular economy principles to building materials
Front-running companies ’ business model innovation in the value chain for buildings
Applying circular economy principles to building materials : Front-running companies’
business model innovatio. Paper presented, 2017, Berlin.

NuRholz, J. L., F. N. Rasmussen, and L. Milios. 2019. Circular building materials: Carbon saving
potential and the role of business model innovation and public policy. Journal for
Resource Conservation and Recycling 141: 308-316.

Nygaard Rasmussen, F., T. Malmqvist, A. Moncaster, A. Houlihan Wiberg, and H. Birgisdottir.
2017. Analysing methodological choices in calculation of embodied and GHG emissions
from buildings. Energy and buildings 158: 1487-1498.

Ortiz, O., F. Castells, and G. Sonnemann. 2009. Sustainability in the construction industry: A
review of recent developments based on LCA. Construction and Building Materials
23(1): 28-39.

Osterwalder, A. and Y. Pigneur. 2010. Business Model Generation: A handbook for visionaries,
game changers, and challengers. Hoboken, New Jersey: John Wiley and Sons.



Osterwalder, A., Y. Pigneur, and C. L. Tucci. 2005. Clarifying business models: Origins, present,
and future of the concept. Communications of the association for Information Systems
16(1): 1.

Park, J., J. Sarkis, and Z. Wu. 2010. Creating integrated business and environmental value
within the context of China’s circular economy and ecological modernization. Journal of
Cleaner Production 18(15): 1494-1501.

Rasmussen, F. N., T. Malmqvist, A. Moncaster, A. H. Wiberg, and H. Birgisdéttir. 2018.
Analysing methodological choices in calculations of embodied energy and GHG
emissions from buildings. Energy and buildings 158: 1487-1498.

Rebrick. 2019. Market uptake of an automated technology for reusing old bricks (REBRICK).
https://ec.europa.eu/environment/eco-innovation/projects/en/projects/rebrick. Accessed
24.07.19.

Schenkel, M., M. C. Caniéls, H. Krikke, and E. van der Laan. 2015. Understanding value
creation in closed loop supply chains—Past findings and future directions. Journal of
Manufacturing Systems 37: 729-745.

Shafer, S. M., H. J. Smith, and J. C. Linder. 2005. The power of business models. Business
horizons 48(3): 199-207.

Simon, F.-G. and O. Holm. 2018. Resources from recycling and urban mining: Limits and
prospects. Multidiscplinary Journal for Waste Resources & Residues.

Singh, J. and |. Ordofiez. 2015. Resource Recovery from Post-Consumer Waste: Important
Lessons for the Upcoming Circular Economy. Journal of Cleaner Production.

Taylor, A. M., R. D. Bergman, M. E. Puettmann, and S. Alanya-Rosenbaum. 2017. Impacts of
the allocation assumption in life-cycle assessments of wood-based panels. Forest
Products Journal 67(5-6): 390-396.

Trinomics, CamebridgeEconometrics, and ICF. 2018. Impacts of circular economy policies on
the labour market. Brussels, Belgium:

Turcu, C. 2013. Re-thinking sustainability indicators: local perspectives of urban sustainability.
Journal of Environmental Planning 56(5): 695-719.

UNEP. 2009. Buildings and climate change: summary for decision-makers.

Vadenbo, C., S. Hellweg, and T. F. Astrup. 2017. Let's Be Clear (er) about Substitution: A
Reporting Framework to Account for Product Displacement in Life Cycle Assessment.
Journal of Industrial Ecology 21(5): 1078-1089.

van Bueren, E. and B. Broekhans. 2013. Individual projects as portals for mainstreaming niche
innovations. Constructing green: The social structures of sustainability: 145-167.

Vandkunsten, Genbyg, AsplanViak, HjellnessConsult, and Malmd&TekniskaHdgskola. 2016.
Rebeauty: Nordic built component reuse. Copenhagen:

Vatalis, K., O. Manoliadis, G. Charalampides, S. Platias, S. J. P. E. Savvidis, and Finance.
2013. Sustainability components affecting decisions for green building Projects. 5: 747-
756.

Verian, K. P., J. O. Whiting, and M. B. Snyder. 2013. Using Recycled Concrete as Aggregate in
Concrete Pavements to Reduce Materials Cost. West Lafayette, Indiana, USA

Ward, T., L. Greunz, S. Botti, A. Ciffolilli, and I. Gaglio. 2013. Job creation as an indicator of
outcomes in ERDF programmes: Synthesis report. Brussels, Belgium:

Wells, P. and M. Seitz. 2005. Business models and closed-loop supply chains: a typology.
Supply Chain Management: An International Journal 10(4): 249-251.

Whalen, K., L. Milios, and J. Nussholz. 2017. Bridging the Gap: barriers and potential for scaling
repair and reuse practices in the Swedisch ICT sector. Resources, Conservation, and
Recycling Circular Economy Special Issue.

Whalen, K. A. 2019. Three circular business models that extend product value and their
contribution to resource efficiency. Journal of Cleaner Production 226: 1128-1137.

Wijkman, A. and K. Skanberg. 2015. The circular economy and benefits for society.




Wirtz, B. W., V. Goéttel, and P. Daiser. 2016. Business model innovation: development, concept
and future research directions. Journal of Business Models 4(1): 1.

Witjes, S. and R. Lozano. 2016. Towards a more Circular Economy: Proposing a framework
linking sustainable public procurement and sustainable business models. Journal for
Resource Conservation and Recycling 112: 37-44.

Yin, R. K. 2013. Case study research: Design and methods: Sage publications.

Zaeri, F., F. E. Rotimi, and J. D. Owolabi. 2016. The effectiveness of the Last Planner System in
New Zealand construction industry: Towards an empirical justification. Creating Built
Environments of New Opportunities 1: 528.

Zink, T. and R. Geyer. 2017. Circular Economy Rebound. Journal of Industrial
Ecology(Research and Analysis): 1-10

Zott, C. and R. Amit. 2010. Business Model Design: An Activity System Perspective. Long range
planning 43(2-3): 216-226.

Zott, C., R. Amit, and L. Massa. 2011. The business model: recent developments and future
research. Journal of management 37(4): 1019-1042.

Appendix A: Process models and contributions shown by LCAs for windows.

|

1p
A1-A3 UP
windows_at site

1,65E4 kg CO2 eq

2,48E4 kg 1,58E4 kg 6,62E3 kg 6,8E3 kg 292 kg 3,8E4 tkm

UP window New 2-layer glass New 2-layer glass Reused 2-layer Alkyd paint, white, Transport, freight,
frames_at assembly)| for UP windows for UP glass for UP without solvent, in lorry 16-32 metric
-3,35E4 kg CO2 eq 2,87E4 kg CO2 eq 1,32E4 kg CO2 eq 0 kg CO2 eq L 1,66E3 kg CO2eq | 6,4E3 kg CO2 eq

310 m2 6,62E3 kg
Window frame, Tempering, flat
wood, U=1.5 glass {GLO}| market]

1,12E3 m2
Glazing, double,
U<1.1 W/m2K
-3,35E4 kg CO2 eq

4,08E4 kg CO2 eq 1,17E3 kg CO2 eq

Figure 6 LCA process and GWP results for windows with reused glass.



3,58E4 kg CO2 eq

1p
A1-A3 Ref wood
windows_at site

1,24E4 kg
UP window
frames_at assembly
site
-1,67E4 kg CO2 eq

155 m2
Window frame,
wood, U=1.5 W/m2K|
{RER}| production |

-1,67E4 kg CO2 eq

1,7E4 kg
Ref Product_3-layer
glass

3,66E4 kg CO2 eq

730 m2
Glazing, triple, U<0.5
W/m2K {GLO}|

market for | Cut-off,
4,73E4 kg CO2 eq

4,95E3 kg
Ref Product_3-layer

glass_tempered
glass

1,164 kg CO2 eq

4,95E3 kg

Tempering, flat glass
{GLO}| market for |

Cut-off, S

875 kg CO2 eq

292 kg
Alkyd paint, white,
without solvent, in
60% solution state

1,66E3 kg CO2 eq

Figure 7 LCA process and GWP results for window reference product (with wood frame).

1,59E4 tkm
Transport, freight,
lorry 16-32 metric
ton, EUROS {RoW}|

2,67E3 kg CO2 eq




1p
A1-A3 Reference
wood/alu
windows_at site
7,25E4 kg CO2 eq

1,294 kg 1,7E4 kg 4,95E3 kg 1,59E4 tkm
UP ref wood/alu Ref Product_3-layer Ref Product_3-layer Transport, freight,
frames glass glass_tempered lorry 16-32 metric
glass ton, EUROS {RoW}|
2,16E4 kg CO2 eq 3,66E4 kg CO2 eq 1,16E4 kg CO2 eq 2,67E3 kg CO2 eq
155 m2 730 m2 4,95E3 kg
UP ref_Window Glazing, triple, Tempering, flat
frame, wood-metal, U<0.5 W/m2K glass {GLO}| market
U=1.6 W/m2K {GLO}| market for | for | Cut-off, S
2,16E4 kg CO2 eq 4,73E4 kg CO2 eq 875 kg CO2 eq L

Figure 8 LCA process and GWP results for window reference product (with wood-aluminium frame).

8 5 88 38 88

AUHRUNRNEND b

-10
E
-50

70

-100

Cimate Ozone Human todct Human todcit Pariculate onzingradat  lonzZingradat  Photochemica Addification Terrestrial Freshwater Marine eutr o Freshwater Land use ‘Water resourc Mineral fossil
change Gepletion ynon-cancer y cancer affec marer ion HH ion € (nterim 1 ozone format europhicatio eutrophicatio hication ‘ecommicity & dzpietion & ren resourc
@ A1-23 WP windows_atsie () A1-A3 Ref wood windows_atsie () A1-A3 Reference wood/aku windows_at site

Methodt ILCD 2011 Midpoint= V1.10 / £C-IRC Giobal. equal weighting / Characterisation
Comparing 1 pA1-A3 UP windows._at sits" 1 p°A1-A3 Ref wood windows_at ste' and 1 p 'A1-A3 Reference wood/alu windows.at site

Figure 9 LCA results for window with material reuse and two reference products (wood frame and alu-wood frame).



2,01E6 kg
UP Concrete

2,6E5 kg CO2 eq

Appendix B: Process models and contributions shown by LCAs for concrete

Figure 10 LCA process and GWP results for concrete reuse.

4,65E5 kg 8,04E5 kg 3,14E5 kg 3,21E5kg 4,69E3 kg
UP Sand UP aggregates UP cement Tap water {Europe Plasticiser, for
without concrete, based on
Switzerland}| sulfonated
5,46E3 kg CO2 eq 1,7E3 kg CO2 eq 2,46E5 kg CO2 eq 118 kg CO2 eq 6,25E3 kg CO2 eq
b —
4,65E5 kg 3,14E5 kg 1,61E5 tkm
Sand {RoW}| gravel Cement, pozzolana Transport, freight,
and quarry and fly ash 11-35%, lorry 16-32 metric
operation | Cut-off, non-US {Europe ton, EUROS5 {GLO}|
2,02E3 kg CO2 eq 2,24E5 kg CO2 2,69E4 kg CO2 eq




4,65E5 kg 8,04E5 kg 3,21E5kg 4,69E3 kg

UP Sand reference UP gravel reference Up Concrete_Tap upP
water {Europe Concrete_Plasticiser
without , for concrete,
5,46E3 kg CO2 eq 1,42E4 kg CO2 eq 118 kg CO2 eq 6,25E3 kg CO2 eq
t i
' —

4,65E5 kg 8,04E5 kg 3,14E5kg 1,84E5 tkm
Sand {RoW}| gravel Gravel, crushed Cement, pozzolana Transport, freight,

and quarry RoWj}| production | and fly ash 11-35%, lorry 16-32 metric
operation | Cut-off, Cut-off, S non-US {Europe ton, EUROS {GLO}|
2,02E3 kg CO2 eq 7E3 kg CO2 eq 2,24E5 kg CO2 eq 3,07E4 kg CO2 e

Figure 11 LCA process and GWP results for concrete reference product.

Cimate Ozone Humantoict  Human toscit Pariciate lonzingradat  longingradat  Photochemica Acdfication Temestial Frashuater Marine eutrop Freshuater Landuse Waterresowe  Mineral fossil
change depletion y.ron-cancer y, cancer effec matter on K1 ion € (iterim 1 azone format eurcphiatc  euvophicato hication ecormicity & dapletion & ren resurc
@ UPConcrate @ Concrate reference.
Methodt: ILCD 2011 Midpoint= V1.10 / EC-IRC Giobal. equal weighting / Characterisation

Comparing 1 p 'UP Concrete’ with 1 p Concrate reference’

Figure 12 LCA results for concrete reuse solution and reference product.




Appendix C: Process models and contributions shown by LCAs for wood cladding.

1p
UP wood panels

-7,33E4 kg CO2 eq

4,38E4 kg 188 kg [ 3,54E3 kg 1,12E4 tkm
2nd grade Steel, low-alloyed Alkyd paint, white, Transport, freight,
{GLO}| market for | without solvent, in lorry 16-32 metric
Cut-off, S 60% solution state ton, EUROS {RER}|
-9,55E4 kg CO2 eq 321 kg CO2 eq L | 2,01E4 kg CO2 eq 1,82E3 kg CO2 eq

1

82,6 m3 4,21E4 tkm
Sawnwood, Transport, freight,
softwood, dried lorry 16-32 metric
(u=10%), planed ton, EUROS {GLO}|
-1,03E5 kg CO2 eq 7,01E3 kg CO2 eq

Figure 13 LCA process and GWP results for wood reuse solutions.



4,38E4 kg
1st grade

-9,55E4 kg CO2 eq

1p
Reference wood
panels

-733E4 kg CO2 eq

3,54E3 kg
Alkyd paint, white,
without solvent, in
60% solution state

2,01E4 kg CO2 eq

188 kg
Steel, low-alloyed
{GLO}| market for |

Cut-off, S

321 kg CO2 eq

82,6 m3
Sawnwood,
softwood, dried
(u=10%), planed

-1,03E5 kg CO2 eq

5,33E4 tkm
Transport, freight,
lorry 16-32 metric
ton, EUROS {GLO}|

8,88E3 kg CO2 eq

Figure 14 LCA process and GWP results for wood reference product.




Cimate Ozone. Humantodct  Human todct Particuate lonzingradat  lonzingradat  Photochemica Addification Terrestrial Freshuater Marine eutrop Freshwater Land use Water resourc Mineral fossil
change epletion yonomcancer y cancer affec matter ion HH ion € Gmteim 1 czone format eutrophicato eutrophicatio hication ecomicy & depiation & ren resourc

@ UPwood panels (@) Referance wood panels

Method: 1LCD 2011 Midpointe V1.10 / EC-JRC Global. equal weighting / Characterisation
Comparing 1 p 'UP wood panels’ with 1 p ‘Reference wood panels

Figure 15 LCA results for wood reuse solution and reference product.



